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V. Mechanics of Charged Particles

The Mechanics of a Charge in Electric, Magnetic and Quasi-stationary
Electromagnetic Field

Introduction

In the majority of problems related to the mechanics of electrically charged particles in quasi-

stationary electromagnetic fields it is sufficient to take into account the action of the forces
ﬁqu+q(17><E’),

where: ¢ - the charge of a particle,

E - the vector of the electrical field strength,
v - the velocity of the particle,

B - the vector of the magnetic field.

The first term results form the interaction of the charge with the electric field, the second one — the
Lorentz force — acts upon a charge moving within a magnetic field. Charge and mass are inseparable.
However, we will only deal with problems with negligible gravitational force in relation to the
electromagnetic force.

In the examples considered, it will be assumed that the velocity of a particle is not large. Thus, we can
ignore relativistic effects.

All files are available on request.
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PROBLEMS

\'A Find the path of a particle of mass m and charge ¢ moving in a constant and uniform electric

field of strength E.
The initial conditions are: position 7, =(0,0,0) and velocity v =(v,_,v,,0).

Solution:

The electric force acting on a particle is given by

F=qE
According Newton's equation we obtain
d’r -
m =mr=qkFE,
dar’ 1

where 7 is the position vector of mass m.

We enter the position vector and the field vector followed by the definition of the system of
coordinates as given in Fig. V.1 and the velocity vector.

Fig. V.1

(%12) r_(ty:=[=z(t),y(t),z(t})]15 E_:[0,E,0]5%
(%17) x0:05 w0:05 =z0:05
vilx:v0*cos ()5 wOy:vO*sin{a), v0z:0%

Newton's equation in vector notation has the form

.(%iﬁj de :diff(r (t),t,2)=g/m*E_;
_ 2 2 2 qE
(de_) [ - ®2(t), - vit), - z(t)]=[0, — , 0]
dt< dt© dt m
Let's extract all its components:
.(%illj dexZ:lhs(de )} [1]l=rhs(de )} [1]:

deyZ:lhs(de )} [Z2]=rhs(de ) [2]:
dezZ:lhs(de )} [3]=rhs(de ) [3]:

.
£

(dexZ) — X(t)=0
dt*©

d? g E

(devyZ) - y(t)=—
d &° m
dE

(dez2) - z(t)=0
d&*




The above simple differential equations can be solved "by hand", however we apply computer algebra.
As the solutions of equations dex2 and dez2 are trivial, we present only solution methods for

equation dey?2.

Method 1:

Using integration twice.

" Method 1

.(%i'_Zj integrate (deyZ, t)

tE
+ 21

. d g
($012) e y(t)=

It can easily be seen that constant %cl means the initial velocity component v0y. We perform the

appropriate substitution and integrate the second time.

(2i13)  subst (3cl=viy, %)

d . gtFE
(5013) — yi({t)=v0sin(a)+
dt m
(3i14) integrate($,t):;
(%$014) y(ti=t v0sin{o)+ > + %2
m

As the y-component of the initial position vector is zero we substitute again and receive y(¢).

($115) subst ($c2=0,%) ;

gt°E

($015) yvit)=t v0 sinl{a)+
2m

Method 2:
Applying ode2 to get the general solution first followed by 1C2 to obtain the particular solution.

" Method 2
(2i16) ode2 (dey2,y(t),t):

-
£

($ole) yit)= + &k2 £+ %k1

($i17)  ic2(%,t=0,y(t)=0,diff (y(t),t)=v0y);

t°E

(50l17) yvitl=tv0sin(a)+ +y(0)

Method 3:

Applying desolve to find the general solution for all DEs followed by atvalue to obtain the

particular solutions.




" Method 3
.(%118) gsoln:desolve ([dexZ,deyvi,dez2], [x(t),v(T),2(t)]1}5
.(%119) psoln:subst ([x(0)=x20,v(0)=y0,z(0)==z0,
at ("'diff(x(t),t),t=0)=v0*%cos (),
at ('diff(y(t},t),t=0)=v0*%sin (o),
at('diff{z(t},t),t=0)=0],gsoln) ;

2 E

(psoln) [=(t)l=tv0cos({a), y(E)=t vOsin(a}+ el rz(E)=0]

The obtained result indicates that the motion of the charged particle lies within the xy-plane. In order
to get the relation describing the trajectory of the particle in explicit form we try to eliminate the time
parameter ¢ from the above equations for x(¢) and y(¢).

.(%120) solve (eliminate ([x=rhs (pscln[l]) ,v=rhs (psoln[2])]1,[t]l),v):

2

Qm'vﬂzxccsiﬂf} sin(a)+gx" E

(3c20) [¥=

Emvﬂz cos{{x]z

We rewrite the result as function depending on x, ¢ and «.

.(%121) Vvi{vegro) = (2*m*v0*2*x*cos (o) *sin (o) +g*x~2*E) /
(2*m*v0"~2*cos (o) ~2) ;

2

vaﬂzxcosiﬂf} sin{a)+gx" E

(302l) vly,gra):=

2 vaz ccs{a}z

Let's enter a set of parameter values for plotting some trajectories:

(%i24) E:105 w0:25 m:3%
($125) y(x,qg,a);

24 x cos(a) sin(a)+10 g x°

(F025)
24 ccs(a]2

We recognize the trajectories as parabolas and plot forg==% 1 and a = —%,0,% (which is the angle

of the original direction of motion with the positive x-axis).

($132) viiy(x,1,-%pi/4)5 v2:vyv(x,1,0)5 v3:y(x,1,%pi/4)5%
yvadry (=, -1,-%pi/f4)5 v5:v(x,-1,0)5 vyve:vy(x,-1,%pi/4)5
plotZ2d ([v1,v2,v3,v4,v5,vel, [2,0,2], [v, 4,41,
[l=gend, "g=1,alpha=-PI/4", "g=1, alpha=0", "g=1,alpha=PI/4",
"g=-1,alpha=-PI/4","g=—1,alpha=0","g=—1,alpha=PI/4™]}5
plotZ2d: some values were clipped.
plot2d: some values were clipped.

You can find the graphs of the trajectories on the next page.




T
g=1,alpha=-Pl/'4 ——
g=1,alpha=0 ——
g=1,alpha=P1/4 I
q=-1,alpha=-Pl/4 ——
q=-1,alpha=0 —— o
q=-1,alpha=Pl/4 —

It is no problem to perform methods 1 and 2 working with DERIVE and TI-NspireCAS as well.
Both systems don't provide an appropriate tool like presented in %i18 and %i19 above.
MATHEMATICA does.

See below a possible TI-NspireCAS treatment inspired by method 3.
- —

r0):=[x(0) ) ()] Done |
ee_:=[0 ee 0} [0 ee 0]
x0:=0:y0:=0:20:=0 0
vOx:=v0- cos[oc):vﬂjv:ﬂ.'ﬂ- sin{cx}:vﬂz:=0 0
42 q g d g ee pe:
Pl de_:=—°(r_(t}]=—- ee_ —0{1(1]]=0 {y(f]}=— —0{ (I]}=0
A m & m 4
dt dt dt dt
deSolve[.r"=0 and _1'(0)=_r0 and _1"[0}=1.'ﬂ1',f,_1'} x=v0 cos{a}- t
deSolve(y"=q;m£ and y(0}=0 and y'(0}=v0- sin{tx},t,y y:fl' ee: ‘-.—i-vO' Sin(tx}' {
2-m
deSolve[z"=0 and 2[0)=zﬂ and z'{0)=v02,i,z} z=0
_ 2
solve|x=v0- cos(fx]- t and y=q ce'! +v0: sin(fx)- r,{y,.(}
2-m
s 0 s
= X and yz_r- q-ee x+2-m- v0 -sm(rx}-cos(rx] and m=0
vo cos(a) 2 m v02- (cos(a}}z >

It's a question of taste what to prefer: the "two command"-procedure of Maxima — which
might be a bit complicated for one or the other "CASer", or the slower — but clearer from my
point of view — "step-for-step”-procedure of TI-NspireCAS. You can see how to find the
explicit form of the trajectories.




V.2 An electron of mass m and charge ¢ is moving in a constant magnetic field.
The initial conditions are: position 7, = (0,0,0) and velocity v = (v,,,v,,,0).

a) Calculate and analyze the trajectory of the electron.
b) Calculate the charge-to-mass ratio g/m of the electron.

Solution:

We refer to the formula given in the introduction
F=qgE+q#FxB),

In our problem is ‘E ‘ =0, so we have

F = q(¥ x B) with B(B,0,0).

The Maxima computation procedure follows

:(%i‘_) r_(t):=[=(t),y(t),z(t)]s
($12) [vi (t) :="diff (x(t),t),vy(t) :="diff(y(t),t),
vz (t):="diff(z(t),t)]:

d d d
(502) [v(t):=— =(t),vy(t):=— vi(t),ve(t):=— z(t}]
dt dt dt
(3i4) v_(t)i=[vx(t),vy(t) ,vz(t) 15
B :[B,0,01%

As shown in part 1 we have to load the library "vect" in order to have the vector product available
which must be entered by a "~" (%i16).

(%1E) leoad(vect) s
de :diff(r (t),t,2)=g/m*express(v_(t)~B_};
, , , a < z{tn)ﬂ gl = y{t})ﬂ
z 2 < L dt v dt
|:=::~E_:' [ - x(t), - y( £, = z{(t)}]1=00, - r - - 1
dt° dt° dt® m m

We proceed in the same way as in problem V.1, starting with extracting the components of Newfon's

equation:

.(%igj dex2:1lhs(de_) [1]l=rhs(de ) [1]:
deyZ:lhs(de ) [Z]l=rhs(de )} [2]:
dezZ:lhs(de ) [3]=rhs(de ) [3]:

(dex2) - x(t)=0
dt”

(2 oe)s
42 qkdt z(t)
(dey?2) - ylt)= ——————
dt® =
[ 2 yn]s
42 qkdt ¥(t)
(dezZ) - gft)=—- ————
dt‘ m




First we apply desolve for calculating the general solution. Then we find the particular solution and
define the functions of the components.

-(%ilﬂ] gsoln:desolve ([dexi,deyi,dezZ], [x(t),y(t),2(t)]) 5

Is mg B zero or nonzero?n;

($111) psoln:subst ([x(0)=0,v{(0)=0,=z(0)=0,
at ('diff(x(t),t),t=0)=v0x,
at ('diff(y(t),t),t=0)=v0vy,
at('diff(=z(t),t),t=0)=0],gs0oln);

{acsB " qtB
mviy Slﬂ_l mwviy chl
} \ m \ m mv0y
(psoln) [x(t)=tvlix,y(t)= FE2(E)= —
g B g kB gk

($112) [x(t) :=t*v0x,
y(t) :=(m*vOy*sin ({g*t*B}/m})/ (g*B),
z(t) :=(m*vOy*cos ((g*t*B) /m) )/ (g*B) - (m*vOy)/ (g*B) 1;

r r
gthB gtB
mviy sin.l ) mviy cos )
\ m \ m mvly
(50l12) [2{t):=tvlx,y(Lt):= rZlE) = -
g B g B g B

[v(?), z(¢¥)] is the parameter representation of the projection of the path onto the yz-plane. Let's inspect
the expressions and try to recognize the curve.

.(%113) v(t) "2+ (z(t)+ (m*vOy) / (g¥*B) ) ~2=( (m*vOvy) / (g*B) )} ~2;

' 2 s 2
2 2 . qgtB 2 2 gtB
m° vOy“© =i m” vO0y~ cos 2 2
\, m \ m m® viy
(%013) + =

q2 52 qZ 32 q2 B

2

(3i14) trigsimp (%) ;

2 2 2 2
m° w0y m*° vy
(%0l4) =
qZ BZ qZ B2

m-v0y
qB

Yes, it is a circle of radius m ‘;)y
q

and centre (0, 0,— j %014 confirms this.

Below are numerical examples followed by their graphical representation.

.(%115) exl:subst ([m=3,g=1,v0ly=4,B=2]1, [v(t),2(t)]1);

.."gt .’Qt
(exl) [6514 j;- r 6 —6 cos ?; ]
kY

hY

.(%118) ex?:subst ([m=3,g=-1,v0y=6,B=2]1, [yv(t),2z(t)1)5
ex3:subst ([m=3,g=—1,v0y=5,B=—31, [v(t),z(t) 1)
exd:subst ([m=3,g=—1,v0y=6,B=—-21, [v(t),z(t) 1)

L 4

(%$122) gl:parametric(ex1[1],ex1[2],t,0,10}5
g2:parametric({ex2[1],ex2[2],t,0,10)}5
g3:parametric({ex3[1],ex3([2],t,0,10)}5%
g4d:parametric(ex4[1],ex4[2],t,0,10)5




.——Z} wxdrawZd (key="v0y=4,B=2",color=red,gl, key="v0y=6,B=2",color=blue,g2,
key="v0y=5,B=-3", color=green, g3,
key="v0y=6,B=-2",color = black,gd,xlabel="z",ylabel="y"}5

(%t40)

Now we evaluate and draw the trajectories of an electron.

-[%124) subst ([g=—1,m=1,E=0.2,B=-1,v0x=5,v0y=1]1,[=x(t),v(T),2(t) 1)~
(Fo24) [5 t,sin(t),cos(t)-1]

-[%125) subst ([g=—1,m=1,E=0.2,B=-1,v0x=5,v0y=-1.5],[=x(t),v(t),=2(t)}]1);
(%025) [5t,-1.5sin(t),1.5-1.5cos(t)}]

-[%126) subst ([g=—1,m=1,E=0.2,B=-1,v0x=5,v0y=1.5],[=x(t),v(Tt),2(L) 1)~
(%026) [5t,1.5sin(t), 1.5 cos(t)—-1.5]

-[%129) spirall:parametric(5*t,sin(t),cos(t)-1,t,0,20);
spiralZ:parametric(5*t,-1.5*%sin(t),1.5-1.5%cos(t),t,0,20);
spiral3:parametric(5%t,1.5%sin(t},1.5%cos(t)-1.5,t,0,20);

(spirall) parametric(s £, sin(t),cos(t)-1,¢t,0,20)
(spiral?) parametric(S5 t,-1.5sin(t),1.5-1.5cos(t), t,0,20)
(spiral3) parametric(5t,1.5sin(t),1.5¢cos(t)-1.5,¢t,0,20)

- ($130) draw3d (nticks=200, line width=2, color=red,view=[80,15],
spirall,color=blue,spirall,color=green,spiral3)s




Let us evaluate the time td the electron needs to reach the observed plane which has a distance d from
the initial yz-plane

(%131) solve(x(t)=d,t):

d
(¥031) [t=——1]

vix

(%i32) td:d/v0xS

The relation between parameters for which y(td) = 0 and z(¢d) = 0 can be written in the following

compact equation:

-(%i33) trigsimp (expand(yi{td) *2+=z (td) ~2))}=0;
2 m* vG‘yE cr35|

dg B o o
-2 m° voy*
\, m viOx
(3033) - — =0
qd BC

There is an equivalent equation in an even simpler form:

B
cos [ dq B] = 1%& =2k zr, k arbitrary integer number.
mv,, mv,,

Comment:
It can easily be seen %033 that all the electrons are focused at this observed plane (Oscilloscope

screen) for an arbitrary velocity value v,,! Consequently the initial velocity in the yz-plane has not
even to be constant with time.

Now we introduce in this equation the charge-to-mass ratio (i = e_m] . Then we solve it for e_m.
m
.(%i34) eq:subst (g== m*m, g*d*B[k]/ (m*v0Ox) )=k*2*%pi;
de m B}c
(eq) —=2nk
} wix

-(%iSE] solve (eg, = _m);

2ok vix
(%$035) [e m= —— 1

dBk

2
Electrons are accelerated to the speed vy, by potential U which gives the equation % =eU. The

magnetic field B is proportional to the current I: B, = y, %I .- We can eliminate vy, and B from %035.

.(%i36) subst ( [vlx=sgrt (2%e m*U) ,B[kl=p[0]1*n/b*I[k]1],
e m=(2*%%pi*k¥*v0x)/ (d*B[k])):

23"r2nb}c e mi
(%$036) e m= —

- Hq d I, n
($137) solve(%3"2,2_m); b = length of the solenoid and » = number of its turns.
snlblK’u
(%5037) e m= ——(———— , e m=0]

z .2 Lz 2
o d® I n




V.3 Solve the equations of motion for a particle of mass m and electrical charge ¢ moving in a
spatially uniform but time varying electric field of the form E = (E, sin(w1),0,0).

Take as initial conditions: 7, =(x,,0,0) and velocity v, =(v,,0,0).

Solution:

For solving the problem we apply again functions ode2 and 1c2. The solution method was presented

in the previous problems.

In our case the particle moves along a straight line, therefore Newton's equation reduces to the
following form:

.(%i'_) dex2:m*'diff(x(t),t,2}=g*E[0] *sin (w*t) ;
( a2 \
(dexz) ml - x(t) ZEOqSin{tmj
L dt® J
(%i2)  ode2 (dex2,x(t),t);
EDqSin{t&J}
(F02) ¥(t)=——— + 3kZ ¢+ 3k1
ma®
.(%i3) ic2 (%, t=0,x(t)=x[0],diff(=(t),t)=v[0]);
qusin{tm} t({vyme+E, g)
(303)  x(t)=- . + +x(0)
mm‘ ma

For illustrating the obtained solution we define x(¢) as a function and substitute appropriate values for
the parameters (Ey =2, @=4, ¢ =500, m =3, xo= 0.5, vy = 6).

.(%14) x(t) :=—(E[Q0] *g*sin (t*a) )/
(m*w*2) + (£* (v [0] *m*+E[0] *q) } / (m*w) +x[0];
—E,gs=sin(tw) t(v,me+E g)

+ +x

(F5o04) =x(t):

mae? ma ¢
.(%iE"J subst ([E[0]=2,g=500,m=3,w=4,x[0]=0.5,v[0]=€],x(t));
125 =in(4 &) 268 £
(%03) - +
& 3

(%i6) plot2d (%, [t,0,51);

450 T T T T

400 -

350 - —

300 —

250 - b

200 b

150 -

(-(125%sin(4*1))/6 )+ (268%1)/3+0.5

100 - b

50 -

] 1 1 1 1

10




V4 Calculate the trajectory of a particle of mass m and electrical charge ¢ moving in a constant

magnetic field B.
At time ¢ = 0 position and velocity of the particle are: 7, =(0,0,0) and v, =(v,,,0,v,.).

Solution:

Let us assume the co-ordinate system oriented as given in Fig. V.4.

Fig. V4

Using such a co-ordinate system we can write the field components as follows:
B,=0,B,=0,B.=B.
For the components of the initial velocity we have:
Vox = Vo sin(a),vg, = 0, vo. = vy cos(av).

We enter the definitions of position and velocity vector and of both field vectors.

.(%iﬂ r (ty:=[=x(t),y(t),z(t)]5
v (b):r="diff(x(t),t)s wy(kt):='diff(y(t),t)s
vz (t):="diff(z(t},z) 5%
v_(ty:i=[va(t),vy(t),vz(t) 13
E :[0,0,0]$ B _:[0,0,B]S

We need the library vector for applying Newton's equation 7 = i(ﬁ x B):
m

(317) r_(t):=[x(t),y(t),z(t)]>

v (t) :="diff(x=(t),t)s wy(t):="diff(y(t),t)s

vz (t):="diff(z(t),=z)%

v_(t):=[v=x(t),vy(t),vz(t)]=:

E :[0,0,0]15 B :[0,0,B]S
(3i8) load (vect) S
(%19) de :'diff(r (t),t,2)=g*E_/m+g/m¥express(v_(t)~B_);

d d

2o (2o x9)  2e (30
(ge ) — [=x(£),v(e), z(£)1=1 ;- 0]

dtr. m m

($i10) de_ :subst (B=w*m/q,de ) ;

a? d d
R A CICECIE F-370) P C R O) P
We substitute o = Bq to get more comfortable expressions and then extract differential Equations

m
for all components.

11




We extract differential equations for all Cartesian components:

.(%i'_'_) dex2:"'diff(x(t),t,2)=rhs(de ) [1]:
d2

— x(5)=( 25 ¥(9)) «

-(%i'_2) deyZ:"diff(y(t),t,2)=rhs(de ) [Z2]:

(@oyz) L y(t):_(i X(t)) 0

dt?

.(%i'_B) dez2:'diff(z(t),t,2)=rhs(de ) [3]:
d2

Method 1:
By integration: Solution of DE dez2 is trivial:

z(t=0)=0 and z(t=0)=v0z give %c2 =0, %Ccl = vy cos(a) — z(t) = t- v cos(a).
We proceed with calculating x(¢) and y(z).

In the first step we integrate one of the two equations dex2 or dey2, let's take the second one. Taking
into account the initial condition y(0) =0, it can easily be seen that constant %C3 in %016 is equal

zero. Therefore %016 can be written in simpler form %o017.

.(%i*_4) integrate (dezZ,t);
d

(s014) — z(t)=#%c1
dt

(2i15) integrate(%,t):

(2015) z(t)=%cl t+sc2
.(%i'_6) integrate (dev2, t):

- d _ _ .
(3016) — v(t)=2%c3-x(t) 0

.(%i'_T) '"diff (yv(t),t)=—w*x(t)5

In the next step we insert the above derivative into equation dex2.

.(%i'_Bj subst ("diffi(v(t),t,1l)=—x(t) *w,dexl);

x( t)=—x( t) w°

($018)

-
s

It is interesting that ode2 does not return the correct solution, so I try desolve — and it works

-(%i'_SJ desolve ('diff(x(t},t,2)=—omega™2%*x(t),x(t)};

Is W =zZero or Nonzero?n;
sin(m t) (dii; x(t} )
£=0

w

(%5019) x(t)= —x(ﬂ) cos(w t)

12




We can substitute x'(0) and x(0) by copy and past in %018 or we apply Subst:

(3i20) subst ([x(0)=0,at ('"diff(x(t),t,1),t=0)=v[0]*sin(x)]1,%)
vy sin.(w t) s:i_n_(or)
(2020) x(t)=

W

Our next step is inserting the obtained function x(¢) in expression %il7 followed by integrating to get
function y(?):

.(%i2'_) subst (x(t)=(v[0]*sin(w*t) *sin (c) )/
@y 'diff (v (L), t,1)=—w*x(t));

(F021) i y( t)=—v0 sin(a) sin(t GJ)

-(%i22] integrate (%,t);
74 sin.(cr) cos(t &J)
(s022)  y(t)= + %c4
@

In the final step we apply initial condition y(0) = 0 to find constant %C4. Then it's easy to get the
simplified result for y(7).

-(%i23) solve (subst (t=0, (v[0] *cos (w*t) *sin (x) *w) /fu™2+%5cd=0) , Sc4) ;

Yo siﬂ(“)
(5023) [ gcd=— ——— ]

(3]
-(%i24]| yvi{tl=(v[0]*cos{w*t) *sin (o) *u) /o™2-(v[0] *sin{a) ) w;
T sin(a’) cos(‘-‘: &J) Vo sin.(a’)
(s024) y(£)= -

@ @

(2i25)  ratsimp(3);
v sin(cx) cos(?’: m)—vﬂ sin(a)
(3025) y(t)=

@

Method 2:
Using complex variables:

The system of equations [dex2 ,dey2] can be solved in an elegant way by introducing a new
complex variable

n(t)=x(t)+i- y(¢t) where i denotes the imaginary unit.

We start adding dex2 and %i-dey2. Then we rewrite the resulting equation in form of a single

equation for the complex function 7(¢).

(2i26) Bro*m/gS

($127) dex2+%i%*devZ;

[ a? 42 [ a4 ) d
(%5027) i (d 2 y(t))— e x(t)—(; y(t)) w—%1 (E x(t)) @

-(%i28) diff(n(t),t,2)=-%i*w*diff(eta(t),t):
d2

(3028) . q(t)=—%i(i n(t)) ®

dt
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At first we perform the integration:

(3i29) integrate(%,t);

(3029) i%:q(t)=%c5—%iﬂ(t)m

Taking into account the initial conditions
x(0)=0, y(0)=0, x(0)=v,sin(a), y(0)=0
we get
717(0) =x(0)+i y(0) = v, sin(xr)

and equation %029 can be written as

(2i30) "diff(n(t),t)=v[0]*sin (a)-%i* (g*n (t)*B) /m;

(F030) i q(t]=vD sin(cr)—%i q(t)m

We apply ode2 - which can be applied for 1* order DEs, too — and define 7(7).

(3i31) ode2(%,n(t),t);

(3031) q(t]=%e‘*it“’(%c—

.(%132) nit) :=%e™ (-%i%*t*aw) * (3c— ($1*v[0] *sin (o) *$e" (Fivt¥a) ) fu) ;

sin(tx) 3etl tw

%1 E sin(a') 3eilto@ )

@

&1 4

(3032) q(t]:Z%e(_%i)tm $o—

al

Considering the initial condition delivers constant %cC.

(2i33)  solwve(n(0)=0,%c):
i v sin(cx)

($033) [ = :

@

.(%i34) nit) =% ((-%i)*t¥aw)*
((Fi*v[0]*sin(o) ) /w—($1i*v[0]*sin (o) *Se™ ($i*t*u) ) /w);

(£034) fl( t] .=%e(—%i) £ (%i v, 5in.(o:) B %iv, 53'_11(0_-) goilite )

& [+1]

(2i35) ratsimp(%);

%1 vy sin(a’) gl t@ _gf vy sin(a’)

(2035) n(t):=- T

($i36) 1n_(t):=expand(n(t)):
(%036) r,t( t) :=expand(r|(t))

($i37) x(t)=realpart(n_(t));
ki sin(a) sin(t &-‘l)
(2037)  x(t)=

[}
($i38) y(t)=imagpart(n_(t));
E sin(cr) cos(t &J) Vi sin(a')
(z038)  y(t)= -

[+1] [+1]
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Some manipulations give the final form of 7(¢).

It remains to extract real and imaginary part in order to obtain requested functions x(¢) and y(¢).

Method 3: Using desolve.

(%$139) gsoln:desclve ([dexZ,dey2,dez2], [x(t),y(L),2(E) ]} S
Is @ =Zerc or nonzercfn;

-(%iﬂlﬂ) psoln:subst ([x(0)=0,v(0)=0,z

(0)=0,
at ('diff(=z(t),t),t=0)=v[0]*sin (o),
at('diff(y(t),t),t=0)=0,
at('diff(z(t),t),t=0)=v[0]*cos (x)],gsoln):
Vo s:i.n(a') sin(t &J) v sin.(cr) cos(t &J) v sin(cr)
(psoln) [x(t)= - r y(t)= - - -

.(%i42) x(t) :=rhs(psoln[l])}5 =(t);
v, sin(a’) sin(t -:.J)
(5042)

L]
-(%iﬂlﬂl) y (t) :=expand(rhs (psoln[2])}5 v(t):
v sin(a') cos(t &J) v, sin({x)
(%044) -

@ @

.(%i46) z(t) :=expand (rhs (psoln[3])}5 z(t):
(F04d6) Vg tcos({x:]

' z(t)=vo t cos(c{)]

Comparing the results we fortunately can observe that they are the same.

Finally we will resubstitute for @ = Bq .
m

(3147) kill(B)S
-(%i49) ®x_ (t):=subst (e=B*g/m,x(t))}s x (t):

BEgt
vﬂmsin( ; )sin(&’)
(%048)

Bg
($i51) y_(t):=subst (e=B*q/m,y(t))5 v _(t);
BEgt .
() o)

(%051) -
Bg Eg

Now having done all the work we would like to see the trajectory of the particle for one data set:
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(3i52) subst([v[0]=5,0=%pi/3,B=3,m=2,q=11, [x_(t),v_(t),z(t) 1)/

It 3t
55in(—) 5::05(—)
2 2 2 St
(%052) [ r -

| ,VJE V.-"E \f_;'g o2
(%$153) spiral:parametric((S5*sin((3*t)/2))/sqrt(3}),
(5*cos((3*t)/2))/sgrt (3)-5/s5grt(3),
(5*t)/2,t,0,3%%p1);
( (3t) (3t) \
Ssin| — Scos| —
. ) 2 2 5 5t
(zpiral) parametric — r p— T, t, 0,3 "T)
. V-"B V-"B v"S
—— wxdraw3d (key="Particle Motion",

nticks=200,1line width=2,color=blue,spiral}s

Particle Motion

0
[¥j]

Some years ago we solved all problems using DERIVE. It might be interesting for the reader
to compare the solving procedures from now and then.

We think that the code doesn't need too many explanations.
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#1: [InputMode = Word, CaseMode := Sensitive]
#2: [x(t) =, y(t) =, z(t) =]
#3: r_(t) = [x(t), y(t), z()]
d
#4: v (t) = — r_(t)
dt
#5: [B_:= [0, 0, B], ro_ = [0, 0, 0]]
#6: vO_ = [v0-SINCe), 0, v0-COS(ex)]
d d q
#7: eq = — — r_(t) = —-CROSS(v_(t), B_)
dt dt m
B-g-y'(t) B-gq-x"(t)
#8:  eq = [xX""(L), y''(), 2"7(E)] = - . 0
m m
B-q-y'(t) B-q-x"(t)
#9: equ=x""(t) = — Ay () == ——  Az''(t) =0
m m
[ B-q-y' (1) B-g-x"(t) ]
#10: eq_ = |x""(t) = — ' (£) = = — 2" (t) =0
m m
Method 1:
B-q-y(t) B-q-x(t)
#11: [ eg dt = |x' () = — vy () == — 2 (t) =0
m m
[ B-q-y(t) B-q-x(t) ]
#12: eql = |x'(£) = v0_ + — |y (t) = wv0o_ - —— | 2'(t) = w0
1 m 2 m 3
[ B-q-y(t) B-g-x(t) ]
#13: egl = [x"(t) = vO-SIN(e) + ———, y'"(t) = = — | 2"(t) = v0-COS(x)
m m
B-qg-RHS5(eql )
2
#14: x'"'"(t) =
m
2 2
B -q -x(t)
#15: x'""(t) =z = ———
2
m
y'"(t) = B-q-RHS(eql )
#16: 1
2 2
B -q -y(t)
#17: y''(t) = B-q-v0-SIN(&t) + ——
m

For solving the DEs #15 and #17 we will use the DERIVE tool DSOLVE2__ 1V, which needs a
special syntax:

We must bring the equations in the form: x(¢)+ p - x(¢) + g - x(¢) = r(x).
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Then we can apply DSOLVE_IV(p,q,r,t,t,,X(t,),X(t,)) . We do this for both equations:

2 2
B -q
#18: x(t) == DSOLVEZ2_IV|O, , 0, t, 0, 0, vOo_
2 1
m
B-q-t
m-VD-SIN(u)-SIN{ }
#19: m
x(t) =
B-q
2 2 B-q-vO_
B -qg 1
#20: y(t) := DSOLVE2_IV|O, , = , £, 0, 0, 0
2 m
m
B-q-t
m-VD-SIN(u)-COS{ }
#21: m m-v0-SINCe)
y(t) = -
B-q B-q
B-q-t
m-vD-SIN(a}-{COS{ J - 1}
#22: m
y(t) =

B-q

We can define the trajectory putting all components together, substitute the provided data
and plot the curve.

[x(t), y(t), t-v0_3]

#23:
B-q-t B-g-t
m-v0-SINCe)-SIN m-wi-SINCe)-COS
#24: m m m-wi-SINCe)
. - . vO0-t-COS5()
B-q B-q B-q
#25:




Method 2
#26:  [x(t) =, y(t) =, z(t) =]
#27: n(t) = x(t) + L-y(L)

#28: x''(t) = x""(t)

#29: x""(t) + y''(t)

B-q-y'(t) _ { B-q-x"(t) }
7_'_"_._7

m m

B-q-(= y'(£) + L-x"(t))

#30: x""(t) + y'(E)

d 2 B-q
#31: {——} n(t) = - -n(t)
dt m

m

We can define the trajectory putting all components together, substitute the provided data
and plot the curve.

Then there was given the hint to proceed applying DSOLVE and the remainder of the exercise
was left to the reader to complete.

Method 3 could not be applied using DERIVE but there was a screen shot of a Mathematica-
procedure applying DSolve:

{Bz=B,By=0,Bx=0,x0 =0, yo=0, zo =0, vox = vo Cos[a],
voy =0, voz = vo Sin[a] };
DSolve[{mx''[t]g{y'[t]1Bz-Byz'[t]),
my''[t)]-==uq{z'[t]Bx-Bzx'[t]},
mez''[t]=q{x'[t]By-Bxy'[t]),
x[0] == xo, y[0] == yo, 2[0] :: zo,
x'[0] :: wox, ¥'[0] == voy, z'[0] ::voz},
{x[t], ¥[t], z[t]}, t]

You are invited to compare with Method 3 performed with Maxima.
But there was also a small add-on:
It was shown that the kinetic energy of the particle is constant.
(The components of r_(t) are the final results of the calculation above.
m (d 2
#33: Ek(t) = —-|— r_(t)
2 \dt
2

m-v0
#34: Ek(t) :

2
It is clear that the kinetic energy depends only on the initial velocity vy, i.e. it remains
constant.

Note: The result obtained is the result we could have expected because the magnetic force is
always perpendicular to the displacement, which means that it does not do any work.
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V.5 Calculate the trajectory of a particle of mass m and electrical charge ¢ moving in a constant
electric and magnetic field which are mutually perpendicular.

Solution:

Let us assume the co-ordinate system oriented as given in Fig. V.5.

oy
5
-
=

Fig. V.5

Using such a coordinate system we have
E =(E,0,0) and B=(0,0,B).
Let's assume the following initial conditions:
X,=0,,=0,z,=0 and v, = (vOX,voy,VOZ).

We enter position vector and velocity vector followed by the field vectors and proceed like in the
problems above.

(%i7) r_(t):=[=z(t),v(t),z(t)]5
vx(t):="diffi=(t),t)s wy(t):="diff(v(t),t}s
vz (t):="diff(z(t),=z}5
v_(t):=[va(t),vy(t),vz(t)]1s

E :[E, 0,015 B :[0,0,B]S

(2i8) load (vect) S
(%19) de :'diff(r (t),t,Z2)=g%E_ /mta/m*express(v_(t)~E_}:
d d
2o (200) L, 2e(50)
(de_) e x(£), v(e), 2(£)1=1 — - — 0]

-(%i‘_ﬂ) dexZ:'diff(x(t),t,2)=rhs(de_ ) [1]:

x(t):q(d_”“)) L

th m m

-(%i'_'_ll deyZ:'diff(y(t),t,2)=rhs(de_ ) [2];

o(0)=- 24 (d— H(f))

dt? =
.(%iJ_Z) dezZ:'diff(z(t),t,2)=rhs(de ) [3]:
dz

d2

(2§

- z(t)zlﬂ
dt°
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Below are all components of the particular solution describing the trajectory.

(%114)

(3115)

(%5015)

(%il6)

($ole)

(%117)

(%017)

psoln:subst ([=(0)=0,v(0)=0,=z(0)=0,
at ("diff(x(t),t),t=0)=v0x,
at('diff(yi(t),t),t=0)=v0y,
at('diff(z(t),t),t=0)=v0z],gsoln)s

psoln[l]:;
Bgt Bgt \
m351n( )vﬂx cos( )(Bmavﬂy—ﬂmaj
m m
Ba B% g BEmviy+Em
x(t]: 4
2 2
m B g
psoln[2];
. [Bat z z) 3 Bgt
main (Em vy TEm J m- cos3 wiOx
m m
Ezq Bg mvix Et
v(c)= 2 “5s 5
m g
psoln[3]:;

z(t]=t iz

We plot the space curve for a chosen data set:

(5125)
(5128)

L

x(t):=rhs(psoln[l])
vi(t):=rhs(psolnl[zZ])
z(t):=rhs(psoln[3])
subs: [E=3,B=2,m=1,g=—1,

v0x=v0*sin (x), v0y=v0*cos (o) ,v0z=0.5,v0=2,c=%pi/ 415
xspec(t) :=subst (subs,x(t) )5 vyspec(t):=subst(subs,v(t))5s
zspec(t) :=subst (subs,z ()} 53

L

L

tra:parametric (xspec(t),vspec(t),zspec(t), t,0,6%%pi) s

load (draw) 5

0 errors, 0 warnings

($127) draw3d (key="Trajectory",nticks=200,1line width=2,
color = blue,tra);
(F027) [grBd(parametric)]
Trajectory =—
ot
ol
51
il
z 51
a1
3
i i 2
-2
-1.5 X
-1
-0.5
5 0 15 10 5 0
Y
||
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V.6 Calculate the trajectory of a particle of mass m and electrical charge ¢ moving in a constant
electric and magnetic field which are oriented in opposite direction to each other.

Take this problem as an exercise.

You may assume that the co-ordinate system is oriented as given in Fig. V.6.

Fig. V.6

Electric and magnetic field are given as E = (-E,0,0) and B =(B,0,0).
Assume the following initial conditions: x, =0, y, =0, z,=0; V(v,,,v,,,0)

Solution:

The equation of the trajectory is

t’E mvy, . qtB my tB
tr(t) = tvOV—q ,— sin ,— (cosq —1] )
© 2m  gB m qB m

See a possible trajectory:

M
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V.7 Solve the equations of motion for a charged particle of mass m and charge ¢ moving in an

S . = . B .
oscillating electric field E =(E cos(wt), — Esin(wt),0), where = q—, and a uniform and
m

constant magnetic field oriented perpendicular to this electric field B =(0,0,B). Take as
initial conditions 7, =(0,0,0), v, =(0,0,0).

Solution:

We can work as before and apply the third method.

(2i1) kill (211);
(%00) done
.(%i?) r (t):=[=x(t),v(t),z(L)]s
vE(t):='diff(x(t),t)5 wy(t):="diff(y(t),t)s
vz (t):="diff(=z(t),=z)5
v_(t):=[vx(t),vy(t),vz(t)]=
E_:[E*cos (a*t) —E*sin(w*t),0]5 B :[0,0,B]%
(2i8) load (vect) s
.(%19) de :diff(r (t),t,2)=g¥E /m+g/m¥express(v_(t)~B )5
.(%ilﬂ) dexZ2:lhs(de_) [1]=rhs{de_) [1]:

d
i d? chos(tm) Bq(d_t Y(t))
(dex2) ———-x(t)= +
dtz m m

.(%ill) deyZ:lhs(de ) [Z]l=rhs(de )} [2]:

d
i a2 EQSin(t m) Fa (d_tx(t))
(dey2)  — y(&)=- -
dt m m

-(%112) dezZ:lhs(de ) [3]1=rhs(de_} [3]:
a2
. z(t]ZD

.(%113) gsoln:desolve ([dex2,deyZ,dez2], [2(t),v(t),2(t) 1) 5

Is w =Eero or nonzero?n;

dt

Is BEmg EzZero oF NONzZero?n;

($114) psoln:subst ([x(0)=0,v{(0)=0,=z(0)=0,
at ("diff(=(t),t),t=0)=0,
at('diff(y(t),t),t=0)=0,
at('"diff(z(t),t),t=0)=0],gsoln)s

We receive the components of the trajectory in explicit form and define them as functions:

(3i15) psoln[l];

Bgt
Emgcos
(] quos(tﬁi) ( m ) E
(F015) x|t )=- +
mmz—Bq-:.J quw—Ezqz

E a

.(%116) x(t):=— (E¥g*cos (t*w) )/ (m*e"2-B*g¥*u) +
(E*m*g*cos ( (B*g¥*t)/m) )}/ (B*m*g*w-B"2*g"2)})-E/ (B*w) S
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(3i17) psoln[2];

. Egt
Emegin| —
Eqsin(fﬁ-‘l) ( m )
v(t)= -
m(mm—Bq) B(mm—Bq)
-(%ilﬂj vt} :=(E*g*sin(t*w)} )/ (0% (m*w-B¥*g) ) -
(E*m*sin( (B*g¥*t)/m} )/ (B* (m*w—B*g) )5
(3i19) psoln[3];
(3019) z(t)=0
(2i20)  z(t):=0%
.(%i21) limit ([=x(t),v(t)],B, (m*a)/q);
(3021) [ E (—q tmsin(?’: m)—q cos(t m)—q) . Eqsin(t &J)—Eq ?’:mcos(?’: m) :

.!'J'Er.’l.'l2 mmz

($122) subst([B=(m*w)/qgl, [=x(t),y(t}]);
expt: undefined: 0 to a negative exponent.

(%017)

—-— an error. To debug this try: debugmode (true):

As you can see it is necessary to calculate the limit, substitution does not work because the
denominator of x(¢ and y(¢) equals zero.

Finally we will plot the trajectory based on a set of parameters.

(%123) XX (t) i=subst ([E=2,g=-1,m=3,w=10],
-(E* (-g*t*w*sin(t*w) -g*cos (t*w) +q) ) / (m*w"2) ) S
®xE (L) s
10 t 5in(10 t)+cos(10 t)-1

3023
(5023) 150

($125) yy (L) i=subst([E=2,g=-1,m=3,w=10],
-(E*g*sin(t*e) -E*g*t*w*cos (t*w) ) / (m*w"2)) 5
yy(t):
2 sin(10 £)-20 t cos(10 t)

3025
(5025) 300

(%126) traj:parametric(xx(t),yy(t),z(t),t,0,2*%%pi) 5

——> wxdraw3d (key="Trajectory”,nticks=400,1line width=2,
color=red, traj)s

Trajectory
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We will demonstrate how to perform "Method 1" with TI-NspireCAS:

Done

bb_:={0 0 il w}: ee_:=[ee-cos{w-f} -ee-sin{w-f} O] [ee-cos{w-f) -ee-sin{w-z) O]
q
RN _ _
eq.=m- —{_r_{f}_}=g- ee_+q- cmssP{_v_{f},bb__}
dt
& L))o L) e coslar) m L) L) e s ) m (o
mdf k3 _—mwdf_ J+q ee coslw mdf2_ _—mwdf_x J-g ee sinlw mdfg_z =
[ 2 ' - “ee sinfw )+m w2 3
A m- d—2{x{f}] de= im- w: i[}{f}}ﬂ? ee cos{:w- f} df i{x{f)} 2 { mf-)w }l{'f}
df L !
del="—
T LI drosu d oy q-ee-cos{w-f}—m-w2'x{!}
A m- —\ {f}} di= I-m- w: E{_x(f}_}—q- e sin(w- f}]df E{J‘{f}F )
dt v oW
de2:==
2 ke 2:9)-o
A ] m g{z{f}} df—_[O dt dt

Short comments are provided.

__________________________________________________________________________________________________|
2 d
A [m' d—2{z{_f}} de=[o at df{z{f}}'o
d
de3=" i -
m
© Integration constant for de2:
U SRS T q- ee
solve O=q ee coa{_w O} "W O+r:,c = -
mow mow
di{}(f”=q ee cos(w- z]—m- w2-x(f) 9 ee i{}{f}} g ee cos{w- !}—m- wg-x(z]—q- ee
t m-w mow dt mow
© Substitute in 1st de fory"
z . . Dem w2 xd)-a- 2
B m Lo o LW I m @t )gree 0y B ()2 g e cosl o wxl)-g-ce
a? mw art
deSolvel‘m- x'=2 g ee cos{w- f}—m- w? x-g- ee and x{:0)=0 and x'{:0)=0,f,x]|w>0
g ee ({cos{w- z}}2—cos{w- z)+sin{cu- z}- {sin{w- z}—w- I}J
X and w>0
mow?
x{f}'=tCollect g ee [[COS(M' f}]2—cos(w- f}+sin{w- f}- {:sin(w- f}—w- f}] Done
2
mow
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dr® e ar®
20 e coslw f-m- w2 x(f)-a- . 2 . .
A d—{xl{_f}_}=m- w- i COJ{'w f} e x{_f) e :g-ee-cos{_w-f} m- d—{xl{_f}_}=2-q-ee-cos{_w-f}—m- w2-x{_f}—q-ee
dr mw dr

deSolve(m- x"=2 g ee cos(w- z}—m- wg ‘x—g- ee and x(0)=0 and x'(O)=O,I,xJ|w>D

. g ee ({:cos(w- f}}z—cos(w- f}+sin(m- f}- [sin(w- f}—w- f}]

and w>0
mw?

I- ee- s(w- .2—co"'w- +sinfw o) (sinlw )-w ¢ I Done

1) =tCollect| ——— ({COa{ 7)) " ~cos(w th+sin(w o) (sin(w- ) f-})

mw?
A x{f} g ee {:cos{w- f}ﬂu- t sin{w- f}—l}
m w?
y{f};[q ee cos{w- f)—m- w? x{z}—q- € 4 Done
A x}'(f):=x(f}:y?(f}:y(f) g ee {w t cos(w- f}—sin(w- f}}
m w?

xl {f} : =x{f) i {..f) =y{f} Done

We plot the projection of the space curve onto the xy-plane.

0.2 ¥
<2 q=1
< > w =15
| > m=4
| P lee =1
-0.31 0.31
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V.8 Investigate the motion of a particle oo moving from infinity towards the nucleus of an atom

{xl(;t)=x(;t')

y1{e)=y(e)

with Z protons. Assume that the mass of particle m is much smaller than the mass of the
nucleus M.

Solution:

Total energy of the particle £, which is the sum of the kinetic energy and the potential energy is
constant. Thus
Ey +E,=E, = const *)

In polar coordinates the energies are given by:

_2Z¢é

P

E, = % m@i* +r°g*), E r (e=elementary charge)

Assuming that the mass of the particle is much smaller than the mass of the nucleus we can consider
the position of the nucleus as a fixed one. Thus, the area mapped out per second by the position vector
is constant:

ro=C.

On the other hand:
dr ﬂ @ _dr C

dt do dt dpr’

Hence, substituting the above relations into the equation for the conservation of energy (*) s to the
equation
2 2 2 2
2Z
ﬂ C_4 ﬂ + C_2 + € = En (* *)
2| r \de r r
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. . 1
We introduce a new variable: p(p)=——om:,

(@)
calculate the derivative
drp) __ . dplp) 1 dp(p)
=-r (¢) - 2
do do p(p) do
and substitute both into the equation (**):
2

d p(p) s 47 & 2E

=+ + A =B where A=——, B=—2L.

( o p (@) +Ap(p) = C

Hence, the equation for the conversion of the energy is now in a simpler form.

Differentiating this equation and cancelling the factor 2 -@, we obtain the following equation:
@

We will solve this equation supported by the ode2 function:

.(%ilj eq:'diff (p,p,2) +p+R/2=05

(2i2) ode2 (eq, o, @)

(%02) p=%k1 Sin(gﬂ)—%k.? cos(@)—g

-(%iSJ o(p) :=%kl*sin(p)+Eki2*cos(p)-R/25

The constants %k1, %k?2 can be calculated from the initial conditions as follows. The trajectory of the
particle at infinity is of course just a straight line. Suppose that this straight line, when extrapolated,
passes the nucleus at a distance d. This means that at time # = 0, we can write the following two initial
conditions (see Fig. V.8):

r(@)],_, =0 plo)|,_. =0
and
sin(g) _d

(@) =r(p)sin(p) - y(x) =lim
=7 p(p)

y

Fig. V.8

.(%iéj solve (p(%pi)=0,%k2) ;
A
(Fo0d) [%k.?:—g]

(%15) 1k2:-A/25
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%k2 was easy to find. %k1 can be found from the second initial condition. Then we can plot the

trajectory:

:(%LB) rip):=1/plp)s x(p)=r(p)*cos(p)s yv(p)=r{g)*sin(p)s
(%19) limit (y (@) ,@,%pi)=d;
1

(%09) — =d
gkl

(%i10) $ki1:1/45

($111) gl: subst([d=1/20,2=20],parametric(x(p},v{p}, 9,0,%pi)};

. If co=z (@) =in(p)
(gl) parametrlq
A

20 sin(®) —10 co=(p) —10 ! 20 sin(®) —10 cos(p) —10
-(%112) text:label (["trajectory for A=20,d=0.05",-0.4,0.15]})%
—— wxdraw2d (nticks=200, color=red,

¥xaxls=true,yaxlis=true,

¥xrange=[-1,0.5],vrange=[0,0.2],
title="vy(x)",gl,text)s

r @r DFH]

y(x)
0.2 .
0.15 | trajectory for A=20,d=0.05 ;f
e 01
0.05
D | | | | | | |
1 -08 -06 -04 -02 0 02 04

The form of the graph gives the idea that there might be asymptotes.
We start with the limits for ¢ tending to 0 and infinity.

(3i14)  limit ([x(@),v(9) 1,9, %pi);

cos (@)
(%014) [ 1im rdl

p—>m 2in(p) A cas(p) A

d 2 2

(2i15)  limit (x(p),o,%pi);
Is d positive, negative or zerc?fp;
(%0l5) infinity

($i16)  limit ([x(0),y(®)1,@,0);

1
(%0le) [—-—.,0]
a
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We can conclude that y = d which is y = 0.05 is the horizontal asymptote. Next page shows additional
explanation. The result given in %016 will become clear later.

Now for the second asymptote: We try to find its slope first. According to the sketch it is tan(a) when
(o) tends to infinity which is equal to p(a) becomes 0.

So we have to solve the equation:

(%i18)  ple);
sin{@) A cos(@) A

($018) — -— -5
(2i19) eql:p(a)=0;

. _ sin(a) Acos(o) A
e 4 2 -7

Unfortunately we cannot solve this equation in one step with Maxima (with DERIVE it is possible).
There are some ways to overcome this deficiency. We will show tow of them:

.(%izﬂ) solve (trigrat (eqgl) , o)

dAcoz(a)+d A
($020) [sin(ac)= > 1

-(%iE'_) (Z2%sgrt (1-(cos (o) "Z) )=(d¥RA*cos (o) +d*n) ) ~2;
(F021) 4|\_1—cosl{{sz)=(dﬂ cos{a]+dﬂ)2
(3i22)  solve(%,q);
solve: using arc-trig functions to get a2 solution.
Some solutions will be lost.
[ a2a? s
(%5022) [a=n,a=n—acos‘ — Ea— 1
L d°A%+4 d‘A‘+4J

.(%i23) tan ($pi-acos ((dh2*A"2) / (dh2*A"2+4) -4/ (d72%A"2+4) ) ) ;

i - A "]2
[ a<a* 4

l_ —_
l\‘ afa%+a d2A2+4J

a?a® Fl

(%023) -

d?a%+a  g%a%:a
(%i24) radcan (%)
s |4 |2
(%3024) ———
Hd° A -4

($125) subst([d=1/20,2=20],%) ;

2025 :

(%025) 3
(%i26) tan(acos(3/5)):

4

($026)

4
We know that our asymptote has the form y = gx +b. We need to know b. But let me show a second

way to find the slope of the asymptote:
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(3i27) eql:p(a)=0S
.(%128) eqg2:sin (o) "2+cos (o) ~2=15%
-(%129] eg3:tan (o) =sin (o) /cos () %

(%$130) solve (eliminate ([egl,eqg2,eqg3], [sin(wx),cos () ]) ,tan (x)) -
44dA
(5030) [tan{a)=— — , tan(w)=01]
d?a?-4
(3i31) subst ([A=20,d=1/20],%);

($031) [tan(ajZ%,tan(ajZD]

The idea is to find the intersection point(s) of the asymptote and the graph in infinity. Is it possible to
derive the implicit form of the graph? Let's try.

(3i32)  eql:Y=4/3%X+bS
(2i33) trigreduce (Y/X=v (o) /x(9)):

¥
(%5033) — =tan(g)
b4

(3i34) solve (Y/X=tan(p),o):
solwve: using arc-trig functions to get a solution.

Some solutions will be lost.

3034 —at nlf r
(3034) [e=ata . 1
(2i36) t:atan(Y¥/X)S
eqgl:¥X=r(t) *cos(t);

1
(eg2) X=

v ¥ a
_n+1l —_ —_

xe { e wE
| dXq|—+1 29|—+1
\ X< £

by |

Some manipulation is necessary to obtain a reasonable form of €q2 (implicit form of the trajectory).

.(%13?) eg2:radcaniegl) ;
2dx|x|

dax+ri+x? -2|x|r+aax|x|

(3i38) eq2:eq2/X;

(eg2) X=-

o B 2 d|x|

= o dax+ri+x?-2|x|r+dax|x|

($139) eg id¥RAYE¥sgrt (Y"2+X"2) -2%abs () *Y+d*A*K*abs (X)=—-2%d*abs (X} ;
(eq2) dax~y*+x® -2 |x|v+dax|x|=-2d|x|

-(%1403 eg2:radcan (eqg2/X} ;

dax~ri+x? -2 |x|r+dax|x| 2 d|x|

(egl) -

X X
(3i41) eq2: (d¥A¥sqrt (Y 2+X~2)=(—2%d+2%Y—d*A*X))*2;
(eqz) d?a?(¥¥+x?)=(2y-dax-2d)°

Looks good, seems to be a conic (hyperbola?).
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.(%i42) eq2:subst ([A=20,d=5/100],eq2)} ;

. R 1 °
{eg2) Yo+x<= 2 Y—X——)
L 10
.(%i43) solve([egl,eqg2], [Y,X]) -
15b-1 %00 B2 -120 b+3
(%043) [[¥f=— ; X=- 11
300 b-25 1200 B-100

-(%i44j solve (300%b-25=0,b) ;

1
(To44) [b_E]

($145)  Y(X) :=4/3%*X+1/125

We prepare the expressions for the plot and then plot the trajectory again but now together with the
two asymptotes.

.(%i46) aslrexplicit(¥y(¥),¥%,-0.5,1)%

(%5147) asZrexplicit(1/20, ¥%,-2,0)%

(%$148) gl: subst([d=1/20,2=20],parametrici(x(p),vi{p)}, ©,0,%pi})5s

(%51459) text:label (["trajectory for A=20,d=0.05",-0.4,0.15])%

- wxdrawZ2d (nticks=200, color=red,
xaxis=true, yaxis=true,
xrange=[-1,0.5],vyrange=[0,0.2],
title="y(x)",gl,color=blue,asl,color=blue,as2,
color=black,text) 5

y(x)
0.2
0.15 trajectory for A=20,d=0.05
0.1 |
0.05 —_—
U | 1 | | 1 | 1
-1 -0.8 -0.6 -0.4 -0.2 0 0.2 0.4

We can do without complicated search for the asymptotes when we identify the graph as a
hyperbola first. Then it is easy work to find its asymptotes.

As the first ideas for this collection of physics problems treated by means of computer
algebra were realized with DERIVE we will finish with the DERIVE solution. We will also do
the initial calculations to get the differential equation and we will find the asymptotes directly.
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#1: [CaseMode := Sensitive, InputMode := Word]

1
#2: [p(¢) =, r(g) = ]
p(o)
d p'(p)
— r(g) = -
#3: da 2
p(9)
2 2 2
m C d 2 C 2-7-e
#4: _ {— r(q:)J + ¥ = E
2 4 \do 2 rip) n
r(e) r(e)
2 2 2 2 2
C-mp'(®) +C -mp(p) + 4-Z-e -p(@)
#5: - E
2 n

2 2 2 2 2
[ C-mp'(@) +C-mp(®) + 4-Z-e -p(p)

= -2
#6: 2 n
2
C - m
2 2 2 2 2 2-E
C-mp'(9) +C -m-p(g) + 4-Z-e -p(9) n
#7: =
2 2
C-m C - m
2 2-E
2 2 4-7-e -p(9) n
#8:  p'(p) + p(e) =+ =
2 2
C-m C-m

We reduce the differential equation:

2 2
#9:  p'(¢) +p(®) + A-p(9p) =B

d 2 2
#10: - (p'(e) + p(9) + A-p(p) = B)
P
#11: 2-p"(9)-p'"(9) + p'(9)-(2:p(9) + A) =0
#12: p'(9)-(2-p""(¢) + 2:p(9) + A) = 0
#13: 2-p""(@) + 2-p(p) + A =0
A

#14: p""(@) + pld) + — =0
2

A
#15: DSOLVE2[0, 1, - —, ¢J = c1-C0S(¢) + c2-SIN(¢) - 10
2

A
#16: p(@) = c1-C0S($) + c2-SIN(p) - —
2

Now we have solved the differential equation. For the syntax of DSOLVEZ2 see page 17. We
find the constants in the same way as we did with Maxima.
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A
#16: p(p) = c1-C05(d) + c2-5IN(p) - —
2

[-ar)

I
=]
I

#17: p(m)

#18: ¢l =z - —

1
#19: Tim r(®)-SIN($p) =d = [ = dJ

(-
1

#20: 2 = —
d

We plot the trajectory with different ranges for ¢:

#21: [A =20, d = 0.05]

#22: [r()-COS(d), r(p)-SIN(P)]

[ Cos(g) SIN(®) ]
#23: |- -
10-(COS(9) = 2-SIN(9) + 1) 10- (COS(9) - 2-SIN(¢) + 1)
0.1
0.15
0.05
—Ju.l =
0.05 0.1
~0.05
-0.2 -0.1 0.1 0.2

Now we can see the meaning of the Maxima result in %016 above (right plot).

We find the implicit form of the curve and use a tool from the DERIVE Newsletter #83:

2 2 2
#37: 100-(x +vy ) = (10.-x — 20-y + 1)

2 2 2
#38: ch_conic(100-(x + vy ) = (10-x - 20.y + 1) )

Type Center Real axis 2a 1Imaginary axis 2b

#39: 1 1 1 1
Hyperbola |- ——, — o
40 20 20 10
Real Vertices Asymptotes
J5 1 J5 1 3.5t 1 2.5t 1
- + - o —
200 40 100 20 10 40 5 20
J5 1 1 J5 J5-t 1 1
200 40 20 100 2 40 20
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3-/5-t 1 2-/5-t 1
#40: SOLVE|x = — - [y, t]
10 40 5 20

16-x + 1 2-5-% J5

Additional Explanation
The total energy and angular momentum of the particle are constant.
Total energy of the particle is the sum of kinetic energy and potential energy

E, + E,=E, = const

Kinetic energy:

1 1 1
E=—mvV=—mOW +v°)=—m@W > +v°
£=5 2(X y)z(, )
. dr . do i
v, and v, are the polar components of the velocity: v, :E =7, v, = rd—z rQ.
t

So we have in polar coordinates:

E, =%m(vr2 +v¢2) =%m(f2 + r2¢2).

Potential energy:

(2e = charge of the a-particle, Z e = charge of the nucleus with Z protons)

00, 0,0r 2eZe 27

r r r r

E

P

Magnitude of the angular momentum:
L=|FxmV|=|ré. xm(ié +r@é)|=|mr’|=const - r’¢p=C

(e.xe =1, e xe, =0)

r r r [
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